




ॾᯠ≤⌕˄哫෾˅ᴹ䲀ޜਨॱҼᴸԭ⊑ḃ⢙ᧂ᭮䟿 
 

ᓏ≄ 

 

ᵜ亩ⴞ㓣ޕᇎ䱵ᧂ᭮䟿Ṩ㇇㤳തⲴ⊑ḃⓀ㊫රѪаṩ≤⌕⼘ᧂ≄ㆂ઼ 3 ṩ

व㻵ᵪᧂ≄ㆂ˄ഋਧव㻵ᵪᐢڌ⭘˅ˈ≤⌕⼘ᧂ≄ㆂ൘㓯ⴁ⍻㌫㔏⍻ᇊ≤⌕⼘ᧂ

≄ㆂᧂ᭮䟿Ѫ 0.0367 tˈ1#व㻵ᵪᧂ≄ㆂ仇㋂⢙ᒣ൷⎃ᓖѪ 6.72mg/m³ᇎ䱵䘀㹼

44h 2̍#व㻵ᵪᧂ≄ㆂ仇㋂⢙ᒣ൷⎃ᓖѪ 7.27mg/m³ᇎ䱵䘀㹼 17hǃ3#व㻵ᵪᧂ≄

ㆂ仇㋂⢙ᒣ൷⎃ᓖѪ 6.75 mg/m³ᇎ䱵䘀㹼 15hǄ 

 

䇑㇇ਟᗇˈॱҼᴸԭ仇㋂⢙Ⲵᇎ䱵ᧂ᭮䟿Ѫ˖ 

M ≤⌕⼘ᧂ᭮ਓ˄仇㋂⢙˅=0.0367/0.65= 0.0565t 

M1#व㻵ᵪᧂ᭮ਓ˄仇㋂⢙˅=6.72h22593h44h10
-9/0.65= 0.0103t 

M2#व㻵ᵪᧂ᭮ਓ˄仇㋂⢙˅=7.27h19768h17h10
-9/0.65= 0.0038t 

M3#व㻵ᵪᧂ᭮ਓ˄仇㋂⢙˅= 6.75h21513h15h10
-9/0.65= 0.0034t 

M ≤⌕⼘+M व㻵ᵪ=0.0565+0.0103+0.0038+ 0.0034+0=0.0738 

 


